Pre Calculus/Calculus Placement Test
Answer the following questions on the answer sheet.
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(1) 12 @ ¥, 3) 8

2. (a+ b)2 =

()at b ) a’+ b’ (3) 2a+ 2b
N NE

(1) x (2) - x 3) ¥
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1) p° 2) % (3) b

5. (uvz)é =

(1) v (2) v 3"

The solutionof 2x = 3= 7= x is

6.
(1% )10 3)5- x

7. (x3 - 2x2) + (Zx2 - 2x3) S

(D) x" + 4x° ) x' - 4x’ 3)-x’
8. The solutions of y* - 4y = 5 are
(1) 1 and 5 (2) -1 and 5 (3) -2 and 10
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If you do not know an answer, select (5).

(5) don’t know

(4) a2 + 2ab + bz (5) don’t know
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(4) 3x- 10

(4) - 2x°

(4)4 and 5

(5) don’t know

(5) don’t know

(5) don’t know

(5) don’t know

(5) don’t know

(5) don’t know
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9. —+ =
x x-1
1 2 x-1
(1) x(x-1) (2) 2x-1 (3) X
10.  Solving 5a* b= ab for a yields:
ez 575 @az-2 G-
5+ b 5 5-b

11.  The distance between points (1, 0) and (4, 7) is

(1)5 2)7 (3) a1

The slope of the line through (1, -3) and (-3, -2) is

12.
m Y, 2)4 OREA

13. If f(x)= x and g(x)= x+ 1 then f(g(x)) =
D x"+1 2) (x+1)° (3)x’+1

2x -1
(4) x(x-1)

Haz-~

4) 58

@ - Y

4) x"(x+ 1)

14. Ifsint= % and ¢ isin the second quadrant, then COS? =

(1) 3/4 (2) 3/5 (3) -3/5

15.  1Iflog x= =3 then x =

(1) 10 (2) -30 (3) 1000
16. ln(‘ran(%)) =
(-1 )1 (3)0

17.  If f(x) = sinx , then f(3%) =

()1 ) V2/ 3) - V2/
2 2
18. The derivative of 8y~ is

(1) 16x (2) 8x (3) 8

(4)-1/2

(4) .001

O

(4)-1

(4) 4x°

(5) don’t know

(5) don’t know

(5) don’t know

(5) don’t know

(5) don’t know

(5) don’t know

(5) don’t know

(5) don’t know

(5) don’t know

(5) don’t know



# correct (do not count #18...that’s just FYT)

11-17 Belongs in 201 - Cale 1
9-10 Borderline 201/122

7-8 Belongs in 122 - Pre Calculus
0-6 Belongs in 111 - Algebra
SOLUTIONS

. 3

2. 4

3. 3

4. 3

5. 1

6. 1

7.3

8. 2

9. 4

10. 3

1. 4

12. 4

13. 2

14. 3

15. 4

16. 3

17. 4

18. 1



